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PART-A
Answer ALL the questions: (10 x 2=20)

1. Write the expansion of sin3 6 in terms of siné.
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5
2. Evaluate J(3x2 ——jdx
X

1

z
3. Expand the series (1-x) [qj

4. Expand the series log(r—xj
—x )

5. Differentiate 5x° -25 with respect to x.
6. Write any two properties of Arithmetic mean.

7. Define Binomial distribution.

32 5

8. Find the order and degree of the equation| 1+ (d_yj =a d g/ .

dx dx
. : d’y _d
9. Find the complementary function of —-+ 2d_ +y=0.
x X
10. Define root mean square deviation.
PART-B

Answer any FIVE questions: (5 x 8=40)

11. Prove that SITI 70 =64cos® @ —80cos* @ +24cos”> 0 —1.

sind
2
12.S0lve 439 0,0,
dx dx

13. Solve J-x3 cosxdx.

14. Solve (y2 + zz)p - Xyq =—xz

1
15. Determine the Fourier series expansion of f (x) =5 (7r - x)in the interval(0,21m).




16. Find the maxima and minima of the function 2x° —3x* —36x+10.
17. An irregular six faced die is thrown and the expectation that in 10 thrown it will give five even

numbers is twice the expectation that it will give four even numbers. How many times in 10,000 sets
of 10 throws each, would you expect it to give no even number.

18. Find the equation of the tangent to the curve y =

al " at the point (2, 4).
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PART-C
Answer any TWO questions: (2 x 20=40)
19. a) Sum the series 15 + 1521 +ﬂ2 .......
16 16.24 16.24 32
b) Show that log+/12 =1+ L O, i2+ ..... (12+8)
2 3)4 (4 5)4

20. a) Ten coins are thrown simultaneously. Find the probability of getting atleast seven heads.

b) Calculate the mean for the following frequency distribution

Class 0-8 8-16 16-24 24-32 32-40 40-48
interval
frequency 8 7 16 24 15 7
(10+10)
2 01
21. a) Find the eigenvalues and eigenvectors of the matrix |0 2 0
1 0 2
1 1 1
e— 1 5 + E + a cese
b) Show that == 1‘ 1‘ . (15+5)
erl 1y
3 s

22. a) Solve (D2 —-4D + 4)y = e +cos2x.

cosnx . .
! in the interval (—m, )

2 0
b) Show that by Fourier expansion, x* = % + 42 (— 1) >
n=l1 n

(10+10)
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